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 (ت بصفح أحذ عشرسئلة فى لأا  )     【 الإنجليزية لغةبال 】لديناميكا ا –تطبيقية الرياضيات ال                   

  

  E/  / أول/)دمج( ( خ . ع  1313) 
 

    .ببللغة العربية مع الىرقة المحرجمة  ةيسلم الطبلب ورقة امححبني   : تنبيه مهم

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

〔2〕 

 〔بقية الأسئلة فى الصفحة الثبنية  〕

Note: Calculators are allowed. 

First : choose the correct answer from those given: 

(1) if a body moves in a straight live so that its position is given by the relation. 

      𝑥= 2 + ln (𝑡 + 𝑎), then the acceleration of motion 𝑎 =……… 

a) 
−1

𝑡+1
                                  b) 

1

𝑡+1
                        c) 

−1

(𝑡+1)2
                   d) 

1

(𝑡+1)2
 

 

 

 

 

 

 

 

(2) if 𝑣 = 3𝑡 2- 6𝑡, then the distance covered in the interval [ 0,3 ] equals …… 

length unit 

a) zero                                b) 3                           c) 4                          d) 8 

 

 

 

 

 

 

(3) if a body of weight 20 𝑘𝑔 resends on a plane inclined to the horizontal at an  

     angel of  measure 30
°
 with uniform velocity then the magnitude of the plane  

      resistance equals ……….. 𝑘𝑔. 𝑤𝑡 
a) zero                                b) 10                         c) 10 ، 3                   d) 20 

 

 

 

 

 

 



 

 

 E / أول / ( خ . ع  1313) جببع  
 

 

 
 

   

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

          

             

 

 

 

 

 (4) If a body of mass 7 kg is suspended in a spring balance inside a lift and the 

reading of the balance was 8 kg.wt and the magnitude of the acceleration is 𝑎,  

     Then ………. 

a) 𝑎 = 1.4 m/sec
2
 upwards 

b) 𝑎 = -1.4 m/sec
2
 upwards 

c) 𝑎 = -1.4 m/sec
2
 downwards 

d) 𝑎 = -1.4 m/sec
2
 downwards 

 

 

 

 

(5) In the opposite figure: 

      If the plan is smooth and the system moves with acceleration 𝑎, then 𝑎 =……. 

    a) 
1

4 
 g                                b) 

1

5 
 g                        c) 1.96 g                   d) 2.45 g 

 

 

 

 

(6) If a force  𝑓 = ( 4𝑡 + 3 ) newton acts on a body for a time interval l sec , then  

     the Magnitude of the impulse of the force to the body during the 4 th second  

     equals ……….. N.sec. 

a) 11                                 b) 16                          c) 27                         d) 44 

 

 

 

 

 

    

  

(2) 

 〔 لثةبقية الأسئلة فى الصفحة الثب 〕



 

 

 E / أول / ( خ . ع  1313) جببع  
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 〔 الرابعةبقية الأسئلة فى الصفحة  〕

(7) If a body of weight (𝑊) is projected vertically upwards to collide with the  

      ceiling of room which acts in the body with an impulsive force ( 𝑓 ) ,then the  

      pressure of the body in the ceiling = ………. 

a) 𝑓                                   b)  𝑓 + 𝑤                    c)𝑓- 𝑤            d) 𝑤 - 𝑓  

 

 

        

(8) If a body of mass 500 gm moves with velocity  V      = 3 i  + 4 j   m/sec , then 

      The kinetic energy of the body equals ………… joule. 

a) 6250                             b)  1250                     c) 
5

4 
                 d) 

25

4 
 

 

 

 

(9) The work done from the force  F = (4S2 − 2S + 1) Newton to move a  

      particle from the position S = 0   to   S = 4m  equals .................…. Joule. 

a) 244      b) 249           c) 396      d) 1000 

 

 

 

 (10) If a body of mass 
1

2 
 km is projected vertically upwards with velocity  

         14 m/sec, then its kinetic energy at the maximum height = ……. Joule. 

a) 49                b) 98           c) 100      d) 120 

 

 

 

(3) 



 

 

 E / أول / ( خ . ع  1313) جببع  
 

 

Second:  Answer the following questions: 

(1) A car moves in a straight line with initial velocity 12 m/sec from a position at 

4m in the positive direction from a fixed point on the straight line such that :  

      𝑎 = 𝑥 − 4 𝑓𝑖𝑛𝑑 ∶  

(i) V2 in terms of 𝑥  

(ii)The velocity of the car when 𝑎 = 0 

    Complete:  ....................................................................................................… 

.............................................................................................................................

............................................................................................................................. 

.............................................................................................................................

............................................................................................................................. 

.............................................................................................................................

............................................................................................................................. 

.............................................................................................................................

.............................................................................................................................

 .............................................................................................................................

............................................................................................................................. 

 ............................................................................................................................. 

.............................................................................................................................

............................................................................................................................. 

 ............................................................................................................................. 

.............................................................................................................................

............................................................................................................................. 

 ............................................................................................................................. 

.............................................................................................................................

............................................................................................................................. 

 ............................................................................................................................. 

 ............................................................................................................................. 

 ............................................................................................................................. 

 〔 الخبمسةبقية الأسئلة فى الصفحة  〕 

(4) 

 



 

 

 E / أول / ( خ . ع  1313) جببع  
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

𝜃 
 

(2) A body of mass 60 𝑘𝑔 descends from rest on the line of greatest slope of an 

inclined plane woshe lenght is 20m and its height is 12m. If the body starts 

motion from the top of the plane and the kinetic coefficient of friction between the 

body and plane is  
 3 

 16 
  , find the kinetic energy of the body when it reaches the 

base of the plane. 

Complete:  ............................................................. 

................................................................................. 

................................................................................. 

............................................................................................................................. 

............................................................................................................................. 

.............................................................................................................................

.............................................................................................................................

.............................................................................................................................

............................................................................................................................. 

............................................................................................................................. 

............................................................................................................................. 

............................................................................................................................. 

............................................................................................................................. 

............................................................................................................................. 

............................................................................................................................. 

............................................................................................................................. 

............................................................................................................................. 

............................................................................................................................. 

............................................................................................................................. 

............................................................................................................................. 

............................................................................................................................. 

............................................................................................................................. 

............................................................................................................................. 

............................................................................................................................. 

............................................................................................................................. 

............................................................................................................................. 

............................................................................................................................. 

(5) 

 〔 السبدسةبقية الأسئلة فى الصفحة  〕



 

 

 E / أول / ( خ . ع  1313) جببع  
 

 

  

(3) A body of mass 400 gm is placed on a horizontal smooth table, then it is  

      tied to a light string which passes over a small smooth pulley at the edge of  

      the table and carries in its other end another body of mass 90 gm and hangs  

      freely. Find the acceleration of the system g the tension in the string and the  

      pressure on the pulley.  

 

Complete:  

......................................................................... 

............................................................................................................................ 

............................................................................................................................ 

............................................................................................................................ 

............................................................................................................................ 

............................................................................................................................ 

............................................................................................................................ 

............................................................................................................................ 

............................................................................................................................ 

............................................................................................................................ 

............................................................................................................................ 

............................................................................................................................ 

............................................................................................................................ 

............................................................................................................................ 

............................................................................................................................ 

............................................................................................................................ 

............................................................................................................................ 

............................................................................................................................ 

............................................................................................................................ 

............................................................................................................................ 

............................................................................................................................ 

............................................................................................................................ 

............................................................................................................................ 

 

(6) 

400 
 

90 



 

 

 E / أول / ( خ . ع  1313) جببع  
 

(4) A sphere of mass 
1

2 
    moves in a straight line on a horizontal table with  

      velocity 44       . It collides with another sphere at rest and move together 

      as one body, find the velocity after collision. 

Complete:  

................................................................... 

............................................................................................................................ 

............................................................................................................................ 

............................................................................................................................ 

............................................................................................................................ 

............................................................................................................................ 

............................................................................................................................ 

............................................................................................................................ 

............................................................................................................................ 

............................................................................................................................ 

............................................................................................................................ 

............................................................................................................................ 

............................................................................................................................ 

............................................................................................................................ 

............................................................................................................................ 

............................................................................................................................ 

............................................................................................................................ 

............................................................................................................................ 

............................................................................................................................ 

............................................................................................................................ 

............................................................................................................................ 

............................................................................................................................ 

............................................................................................................................ 

............................................................................................................................ 

 
  

(7) 

 〔الثبمنةبقية الأسئلة فى الصفحة  〕

1.5 
1

2 
 



 

 

 E / أول / ( خ . ع  1313) جببع  
 

(5) A ballon of mass 1050    moves vertically upwards with uniform velocity . 

      A body of mass 70    fell from it. Find the acceleration by which the ballon  

      ascends after that and if the velocity of the ballon before the body fell was 

      50       , find  

(i) the distance covered by the ballon after that is 10    .   

(ii) the distance between the ballon and the body after this interval. 

  

Complete:  

............................................................................... 

............................................................................... 

............................................................................... 

............................................................................................................................ 

............................................................................................................................ 

............................................................................................................................ 

............................................................................................................................ 

............................................................................................................................ 

............................................................................................................................ 

............................................................................................................................ 

............................................................................................................................ 

............................................................................................................................ 

............................................................................................................................ 

............................................................................................................................ 

............................................................................................................................ 

............................................................................................................................ 

............................................................................................................................ 

............................................................................................................................ 

............................................................................................................................ 

............................................................................................................................ 

............................................................................................................................ 

............................................................................................................................ 

 〔الحبسعةبقية الأسئلة فى الصفحة  〕  

(8) 



 

 

 E / أول / ( خ . ع  1313) جببع  
 

(6) A body of mass 3   ., is let to descend from rest on the line of greatest slope 

of a rough plane inclined to the horizontal at an angle of sine 
3

5
 . If the velocity of 

the body become 4.9 m/sec after 2.5 sec from the beginning of motion, find the 

kinetic coefficient of friction between the body and the plane. 

Complete:  

……………………………………... 

……………………………………... 

……………………………………... 

……………………………………... 

……………………………………... 

……………………………………... 

……………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

………………………………………………………………………………...……

……………………………………………………………………………………... 
 

 〕العبشرةبقية الأسئلة فى الصفحة  〔

(9) 



 

 

 E / أول / ( خ . ع  1313) جببع  
 

 (7) A force s = 2i + 3j acts on a particle such that the position vector of the 

particle at any instant is given by the relation: 

  =  ( + 5) + ( 2 + 4)  where i , j are the fundamental unit vectors and  the 

force is measured in Newton and the distance is measured in meters. 

Calculate the work done by the force from  = 1 sec     to    = 5  . 

Complete: 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 
 

 〕الحبدية عشرةبقية الأسئلة فى الصفحة  〔

(10) 



 

 

 E / أول / ( خ . ع  1313) جببع  
 

 (8) A car of mass 1800 kg and its power engine is 120 horse moves on a straight 

horizontal road with max velocity 90 km/h. what is the max. velocity by which 

this car can ascend a road inclined to the horizontal at an angle of sine 
1

10
 given 

that the resistance is the same on the two road?    

………………………………………… 

………………………………………… 

………………………………………… 

………………………………………… 

………………………………………… 

………………………………………… 

………………………………………… 

…………………………………………. 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

……………………………………………………………………………………... 

 〕الأسئلة  انحهث 〔

(11) 


